Run | Pade(0,1) Ao's

Run |

25(-
i At)=A /(1 +11)
201 Entries 49
: Mean  43.94
oL RMS  0.02974
10
5
B 43.85 439 43.95 44 4405 441 44.15 442
Run | Pade(2,0) Ao's
20-
181 A(t)=A0+a1t+a2t2
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14: Mean 43.94
C RMS 0.05282
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Run | Pade(1,1) Ao's
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B Alt) = (A0+ a by (1+ a, t)
14 )
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12 Mean 44.02
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o
6
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Runl A/s
50/ _
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401 Mean 43.96
i RMS 0.06313
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20
10"
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Run |l

Run Il Pade(0,1) Ao's Run Il Pade(1,1) AO'S
16: A(t)=A0/(1 +lt) 14__ A(t)=(A0+a1t)f'(1 +a2t)'
- : | Entries 49
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14r y 43.93 12| Mean 44.02
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2 | 2
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Run Il Pade(2,0) AOS Runll A/'s
- 35"
_ A=A +at+a,t r
14 . ! 4219 ~ Al 3 Pade Fits
- ntries 30/ Entries 147
12— Mean 43.95 “|Mean  43.97
- '[RMS  0.06508 o5~ RMS 007114
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ol 20
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2- 5.
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Run | and Il A,'S

Fit Run | Run |
Pade(0,1) = A, / (1+At) 43.94 + 0.03 43.93 + 0.05
Pade(1,1) = (A, +a)/
(1+a 44.02 + 0.06 44.02 + 0.07
Pade(2,0)=A, +at+a?  43.94 + 0.05 43.95 + 0.07

All 3 Fits 43.96 + 0.06 43.97 £ 0.07



Run | 1000 nm Foll

T-1.4:+14 T:-1.6:+1.6 T:-1.8:+1.8 T:-2:+42 T:-2.2:+2.2 T:-2.4 :+2.4 T:-2.6:+2.6
k] -30 -20 -10 0 10 20 30

E: -0.875: 2.375 30 33.74 33.70 33.64 33.67 33.64 33.64 33.63
E:-0.75:+2.25 20 3373 33.648 33.62 33.64 33.64 33.63 33.61
E:-0.625:+2.125 10 33.72 33.69 33.63 33.65 33.64 33.65 33.64
E:-0.5:+2 ] 33.75 3372 33.69 | 33.71 | 33.71 33.69 33.68
E: -0.375 : +1.875 -10 33.75 33.75 33.69 33.73 33.73 33.73 33.73
E:-0.25:+1.75 -20 3381 33.81 33.73 33.76 33.76 33.78 33.77
E:-0.125: +1.625 -30 3382 33.82 33.74 33.77 33.77 33.76 33.76

Color plot of A, vs Variation from Nominal Cuts
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